2025%3H15H
RREBEIIR—ILT « 2D kKAt
REE—RIFHEE > /) Z—

BIRL2E DIER (y)

AR

PRERM R PRERE BF I-131 Cs-134 Cs-137
(Ba/L) (Ba/L) (Ba/L)
1SHWOTRL>Y 2025/03/14 06:45 < 5.6E+00 < 4.2E+00 6.4E+01
25O T RLY 2025/03/14 06:50 < 1.3E+01 1.4E+01 1.2E+03
ISHOTRLY 2025/03/14 07:00 < 3.8E+00 < 5.8E+00 < 4.3E+00
4SO TRL> 2025/03/14 07:14 < 4.3E+00 < 6.6E+00 < 4.7E+00
SSHYTRL> 2025/03/14 07:55 < 3.4E+00 < 5.1E+00 < 4.4E+00
6SHY T RL > 2025/03/14 08:00 < 4.3E+00 < 5.4E+00 < 4.8E+00

BREHF — — — —

cARES (< VRD) (&, BERFRERE (ND)ZEXRT .

ATEMSINS KRB IEDIER (G T-1 &89,

- 0.0Ex0&(F, O.0x10*°THBRTEEEKT B,

(1) 3.1E+01(33.1x101 31, 3.1E4+00(F3.1x10°T3.1, 3.1E-01(F3.1x1071T0.31 &5,




(1,000,000Bq/L)
1.0E+06

(100,000Bq/L)
1.0E+05

(10,000Bq/L)
1.0E+04

RBEE— 15HYTRLURSTRER

3

(1,000Bq/L)
1.0E+03

(100Bq/L)

105202 N‘WW—QM—.

(10Ba/L)
1.0E+01

(1Ba/L)

1.0E+00

12/6  12/13 12/20 12/27 1/3

1710 117 1/24  1/31

217

2114 2/21  2/28

3/7

3/14  3/21

—m—1-131
Cs-134
—e—Cs-137




3

BEE— 25HYIFLUMSTRER

(1,000,000Bq/L)

1.0E+
OE+06 —m—1-131
Cs-134
——Cs-137
(100,000Bq/L)
1.0E+05
(10,000Bq/L)
1.0E+04

(1,000Bq/L) M
1.0E+03

(100Bq/L)
1.0E+02

(10Bg/L)
1.0E+01 i )

(1Ba/L)
1.0E+00

12/6  12/13 12/20 12/27 1/3 110 17 1724 1/31 201 2114  2/21 2/28  3/7 314  3/21



3

RBEE— 3SWYITFLUMSTRERE

(1,000,000Bq/L)
1.0E+06

—m—1-131

~ Cs-134
1/22,24 RFEREDT=HEFEMP LE
——(Cs-137

(100,000Bq/L)

1.0E+05

(10,000Bq/L)
1.0E+04

(1,000Ba/L)
1.0E+03

(100Ba/L)
1.0E+02

(10Ba/L)
1.0E+01

(1Ba/L)
1.0E+00

12/6  12/13 12/20 12/27 1/3 1710 117  1/24  1/31 201 2114 2/21  2/28 37 314 3/21



(1,000,000Bq/L)

1.0E+06

(100,000Bq/L)

1.0E+05

(10,000Bq/L)
1.0E+04

(1,000Bq/L)

1.0E+03

(100Bq/L)

1.0E+02

BEE— ASHY I FLUMGIRERE

(10Ba/L)

1.0E+01

(1Ba/L)

1.0E+00

12/6 LIF&, NDD =7 OvbT—R(EHYEE A,

12/6

12/13

12/20

12/27

1/3

1710 117 1/24  1/31 2001 2114

2/21

2/28

37

3/14

3/21

——1-131
Cs-134
——(Cs-137




(1,000,000Bq/L)
1.0E+06

(100,000Bq/L)
1.0E+05

3

BEE— SSWYIFLUMSTRER

——1-131
Cs-134
—e—Cs-137

(10,000Bq/L)
1.0E+04

(1,000Bq/L)
1.0E+03

(100Ba/L)
1.0E+02

(10Ba/L)
1.0E+01

(1Ba/L)

1.0E+00

12/6 LIf&, NDDI=bTOvbT—RIIHYFEE A,

12/6

12/13

12/20

12/27

1/3

1710 117 1/24  1/31 2071 2114

2/21

2/28

37

3/14

3/21




(1,000,000Bq/L)

3

BEE— 6SHWYIFLUMSTRER

1.0E+06

(100,000Bq

1.0E+05

(10,000Bq/

1.0E+04

(1,000Bq/L

1.0E+03

(100Bq/L

1.0E+02

(10Ba/L)

1.0E+01

(1Ba/L)

1.0E+00

12/6

12/6 LIF%, NDDT=bTOvkTF—RIEHYEH A,

12/13

12/20

12/27

1/3

110 117 1/24  1/31 2001 2114

2/21

2/28

37

3/14

3/21

——1-131
Cs-134
—o—Cs-137




